On modified Noor iterations for strongly pseudocontractive mappings¹

Arif Rafiq, Amelia Bucur

Abstract

In this paper, we analyze a three-step iterative scheme for three strongly pseudocontractive mappings in a uniformly smooth Banach space. Our results can be viewed as an extension of three-step and two-step iterative schemes of Glowinski and Le Tallec [3], Noor [12-15] and Ishikawa [7], Liu [10] and Xu [20].

2000 Mathematics Subject Classification: Primary 47H10, 47H17: Secondary 54H25

Key words: Three-step iteration process for three mappings, Strongly accretive mapping, Strongly pseudocontractive mapping, Uniformly smooth Banach spaces, Common fixed point

1 Introduction

Form now onward, we assume that E is a real uniformly smooth Banach space and K be a nonempty closed convex subset of E. Let J denote the normalized duality mapping from E to 2^{E^*} defined by

$$J(x) = \{ f^* \in E^* : \langle x, f^* \rangle = ||x||^2 \text{ and } ||f^*|| = ||x|| \},\$$

¹Received 27 January, 2009

Accepted for publication (in revised form) 10 February, 2009

where E^* denotes the dual space of E and $\langle \cdot, \cdot \rangle$ denotes the generalized duality pairing. It is well known that if E is uniformly smooth, then J is single-valued and is uniformly continuous on bounded subsets of E. We shall denote the single-valued duality map by j.

Definition 1. A map $T : E \to E$ is called strongly accretive if there exists a constant 0 < k < 1 such that, for each $x, y \in E$, there is a $j(x-y) \in J(x-y)$ satisfying

(1)
$$\langle Tx - Ty, j(x - y) \rangle \ge k ||x - y||^2.$$

Definition 2. An operator T with domain D(T) and range R(T) in E is called strongly pseudocontractive if for all $x, y \in D(T)$, there exist $j(x-y) \in J(x-y)$ and a constant 0 < k < 1 such that

(2)
$$\langle Tx - Ty, j(x - y) \rangle \le (1 - k) ||x - y||^2.$$

It is known that T is strongly pseudocontractive if and only if (I - T) is strongly accretive.

The concept of accretive mapping was at first introduced independently by Browder [2] and Kato [9] in 1967. An early fundamental result in the theory of accretive mapping, due to Browder, states that the initial value problem

$$\frac{du(t)}{dt} + Tu(t) = 0, \qquad u(0) = u_0$$

is solvable if T is locally Lipschitzian and accretive on E.

In recent year, much attention has been given to solve the nonlinear operator equations in Banach spaces by using the two-step and the one-step iterative schemes, see [2-10, 20]. Noor [12-13] has suggested and analyzed three-step iterative methods for finding the approximate solutions of the variational inclusions (inequalities) in a Hilbert space by using the techniques of updating the solution and the auxiliary principle. These threestep schemes are similar to those of the so-called θ -schemes of Glowinski and Le Tallec [3] for finding a zero of the sum of two (more) maximal monotone operators, which they have suggested by using the Lagrange multiplier method. Glowinski and Le Tallec [3] used these three-step iterative schemes for solving elastoviscoplasticity, liquid crystal and eigen-value problems. They have shown that the three-step approximations perform better than the two-step and one-step iterative methods. Haubruge et all [6] have studied the convergence analysis of the three-step schemes of Glowinski and Le Tallec [3] and applied these three-step iterations to obtain new splitting type algorithms for solving variational inequalities, separable convex programming and minimization of a sum of convex functions. They have also proved that three-step iterations lead also to highly parallelized algorithms under certain conditions. It has been shown in [6, 12-13] that three-step schemes are a natural generalization of the splitting methods for solving partial differential equations (inclusions). For the applications of the splitting and decomposition methods, see [1, 3, 6, 12-14] and the references therein. Thus we conclude that three-step schemes play an important and significant part in solving various problems, which arise in pure and applied sciences.

In 2002, Noor, Rassias and Huang [15] suggested the following three-step iteration process for solving the nonlinear equations Tu = 0.

Let E is a real normed space and K be a nonempty closed convex subset of E.

Algorithm NRH. Let $T: K \to K$ be a mapping. For a given $x_0 \in K$, compute the sequence $\{x_n\}_{n=0}^{\infty}$ by the iterative schemes

(3)

$$\begin{aligned}
x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n Ty_n, \\
y_n &= (1 - \beta_n)x_n + \beta_n Tz_n, \\
z_n &= (1 - \gamma_n)x_n + \gamma_n Tx_n, \ n \ge 0,
\end{aligned}$$

which is called the three-step iterative process, where $\{\alpha_n\}_{n=0}^{\infty}$, $\{\beta_n\}_{n=0}^{\infty}$ and $\{\gamma_n\}_{n=0}^{\infty}$ are three real sequences in [0,1] satisfying some certain conditions. If $\gamma_n = 0$ and $\beta_n = 0$, then Algorithm NRH reduces to:

Algorithm M. For a given $x_0 \in K$, compute the sequence $\{x_n\}_{n=0}^{\infty}$ by the iterative scheme

(4)
$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T x_n, n \ge 0,$$

which is called the Mann iterative process, see [11].

For $\gamma_n = 0$, Algorithm NRH becomes:

Algorithm I. Let K be a nonempty convex subset of E and let $T : K \to K$ be a mapping. For any given $x_0 \in K$, compute the sequence $\{x_n\}_{n=0}^{\infty}$ by the iterative schemes

(5)
$$\begin{aligned} x_{n+1} &= (1-\alpha_n)x_n + \alpha_n T y_n, n \ge 0, \\ y_n &= (1-\beta_n)x_n + \beta_n T x_n, n \ge 0, \end{aligned}$$

which is called the two-step Ishikawa iterative process, and $\{\alpha_n\}_{n=0}^{\infty}$ and $\{\beta_n\}_{n=0}^{\infty}$ are two real sequences in [0,1] satisfying some certain conditions.

These facts motivated us to introduce and analyze a class of three-step iterative scheme for three strongly pseudocontractive mappings. This scheme defined as follows.

Algorithm A. Let $T_1, T_2, T_3 : K \to K$ be three given mappings. For a given $x_0 \in K$, compute the sequence $\{x_n\}_{n=0}^{\infty}$ by the iterative scheme

(6)

$$\begin{aligned}
x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T_1 y_n, \\
y_n &= (1 - \beta_n)x_n + \beta_n T_2 z_n, \\
z_n &= (1 - \gamma_n)x_n + \gamma_n T_3 x_n, \quad n \ge 0,
\end{aligned}$$

which is called the modified three-step iterative process, where $\{\alpha_n\}_{n=0}^{\infty}$, $\{\beta_n\}_{n=0}^{\infty}$ and $\{\gamma_n\}_{n=0}^{\infty}$ are three real sequences in [0,1] satisfying some certain conditions.

It may be noted that the iteration schemes (3-5) may be viewed as the special case of (6).

In this paper, we establish the strong convergence for a modified threestep iterative scheme for three strongly pseudocontractive mappings in a uniformly smooth Banach space. Our results can be viewed as an extension of three-step and two-step iterative schemes of Glowinski and Le Tallec [3], Noor [12-15] and Ishikawa [7], Liu [10] and Xu [20]. We also study the convergence analysis of the iterative method.

2 Main Results

We will use the following results.

Lemma 1. [19] Let E be a real uniformly smooth Banach space and let $J: E \to 2^E$ be the normalized duality mapping. Then for any $x, y \in E$, we have

(7)
$$||x+y||^2 \le ||x||^2 + 2\langle y, j(x+y) \rangle$$
, for all $j(x+y) \in J(x+y)$.

Lemma 2. [2] E is a uniformly smooth Banach space if and only if J is single valued and uniformly continuous on any bounded subset of E.

The following lemma is proved in [17].

Lemma 3. If there exists a positive integer N such that for all $n \ge N$, $n \in \mathbb{N}$,

$$\rho_{n+1} \le (1 - \alpha_n)\rho_n + b_n,$$

then

$$\lim_{n \to \infty} \rho_n = 0,$$

where $\alpha_n \in [0, 1)$, $\sum_{n=0}^{\infty} \alpha_n = \infty$, and $b_n = o(\alpha_n)$.

Theorem 1. Let E be a real uniformly smooth Banach space and K be a nonempty closed convex subset of E. Let T_1, T_2, T_3 be strongly pseudocontractive self maps of K with $T_i(K)$ bounded; i = 1, 2, 3. Let $\{x_n\}_{n=0}^{\infty}$ be the sequence defined by

(8)

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T_1 y_n,$$

$$y_n = (1 - \beta_n)x_n + \beta_n T_2 z_n,$$

$$z_n = (1 - \gamma_n)x_n + \gamma_n T_3 x_n, \ n \ge 0$$

where $\{\alpha_n\}_{n=0}^{\infty}$, $\{\beta_n\}_{n=0}^{\infty}$ and $\{\gamma_n\}_{n=0}^{\infty}$ are three real sequences in [0,1] satisfying the conditions:

(9)
$$\lim_{n \to \infty} \alpha_n = 0 = \lim_{n \to \infty} \beta_n = \lim_{n \to \infty} \gamma_n \text{ and } \sum_{n=0}^{\infty} \alpha_n = \infty.$$

If $F(T_1) \cap F(T_1) \cap F(T_1) \neq \varphi$, then the sequence $\{x_n\}_{n=0}^{\infty}$ converges strongly to the common fixed point of T_1, T_2, T_3 .

Proof. Since each T_i ; i = 1, 2, 3 is strongly pseudocontractive, then there exists $k_i \in (0, 1)$; i = 1, 2, 3 such that

$$\langle T_i x - T_i y, j(x-y) \rangle \le (1-k_i) ||x-y||^2, \ i = 1, \ 2, \ 3.$$

Let $k = \min_{1 \le i \le N} \{k_i\}$. Then

$$\langle T_i x - T_i y, j(x - y) \rangle \le (1 - k) ||x - y||^2, \ i = 1, \ 2, \ 3.$$

Let $p \in F := F(T_1) \cap F(T_2) \cap F(T_3)$. We will show that p is the unique fixed point of F. Let $p \in F(T_1)$. Suppose there exists $q_1 \in F(T_1)$. Then

$$||p-q_1||^2 = \langle p-q_1, j(p-q_1) \rangle = \langle T_1p - T_1q_1, j(p-q_1) \rangle \le (1-k)||p-q_1||^2.$$

Since $k \in (0, 1)$, it follows that $||p - q_1||^2 \leq 0$, which implies $p = q_1$. Hence $F(T_1) = \{p\}$. Similarly we can prove that p is the unique fixed point of T_2 and T_3 respectively. Thus $p \in F$.

Since each T_i ; i = 1, 2, 3 has bounded range, we set

$$M_1 = ||x_0 - p|| + \sup_{x,y \in K} ||T_i x - T_i y||; \ i = 1, 2, 3.$$

Obviously $M_1 < \infty$.

It is clear that $||x_0 - p|| \le M_1$. Let $||x_n - p|| \le M_1$. Next we will prove that $||x_{n+1} - p|| \le M_1$.

Consider

$$||x_{n+1} - p|| = ||(1 - \alpha_n)x_n + \alpha_n T_1 y_n - p||$$

= $||(1 - \alpha_n)(x_n - p) + \alpha_n (T_1 y_n - p)|$
 $\leq (1 - \alpha_n)||x_n - p|| + \alpha_n ||T_1 y_n - p||$
 $\leq (1 - \alpha_n)M_1 + M_1 \alpha_n = M_1.$

So, from the above discussion, we can conclude that the sequence $\{x_n - p\}_{n=0}^{\infty}$ is bounded.

Let $M_2 = \sup_{n \ge 0} ||x_n - p||.$ Since

$$\begin{aligned} ||x_n - y_n|| &= ||x_n - (1 - \beta_n)x_n - \beta_n T_2 z_n|| \\ &= \beta_n ||x_n - T_2 z_n|| \\ &\leq \beta_n ||x_n - p|| + \beta_n ||T_2 z_n - p|| \leq \beta_n M_2 + \beta_n M_1 \\ &= (M_2 + M_1)\beta_n \longrightarrow 0, \text{ as } n \to \infty, \end{aligned}$$

implies $\{x_n - y_n\}_{n=0}^{\infty}$ is bounded. Let $M_3 = \sup_{n \ge 0} ||x_n - y_n||$. Since $||y_n - p|| \le ||x_n - p|| + ||x_n - y_n||$, so $\{y_n - p\}_{n=0}^{\infty}$ is also bounded. Let $M_4 = \sup_{n \ge 0} ||y_n - p||$. In a similar way, we can prove that the sequence $\{||z_n - p||\}_{n=0}^{\infty}$ is bounded. Let $M_5 = \sup_{n \ge 0} ||z_n - p||$.

Denote $\overline{M} = M_1 + M_2 + M_4 + M_5$. Obviously $M < \infty$.

From Lemma 1 for all $n \ge 0$, and by taking $A_n = \langle T_3 x_n - p, j(z_n - p) - j(x_n - p) \rangle$, we have

(10)
$$||z_n - p||^2 = ||(1 - \gamma_n)x_n + \gamma_n T_3 x_n - p||^2$$

= $||(1 - \gamma_n)(x_n - p) + \gamma_n (T_3 x_n - p)||^2$
 $\leq (1 - \gamma_n)^2 ||x_n - p||^2 + 2\gamma_n \langle T_3 x_n - p, j(z_n - p) \rangle$

$$= (1 - \gamma_n)^2 ||x_n - p||^2 + 2\gamma_n \langle T_3 x_n - p, j(x_n - p) \rangle$$

$$- j(x_n - p) + j(z_n - p) \rangle$$

$$= (1 - \gamma_n)^2 ||x_n - p||^2 + 2\gamma_n \langle T_3 x_n - p, j(x_n - p) \rangle + 2\gamma_n A_n$$

$$\leq (1 - \gamma_n)^2 ||x_n - p||^2 + 2\gamma_n (1 - k) ||x_n - p||^2 + 2\gamma_n A_n$$

$$= [1 + \gamma_n (\gamma_n - 2k)] ||x_n - p||^2 + 2\gamma_n A_n.$$

Now by $\lim_{n\to\infty} \gamma_n = 0$, there exists a natural number $n_0 \in \mathbb{N}$ such that for all $n \ge n_0$, we have $\gamma_n \le 2k$. From (10), we get

(11)
$$||z_n - p||^2 \le ||x_n - p||^2 + 2\gamma_n A_n.$$

CLAIM 1: $\lim_{n\to\infty} A_n = 0$. Indeed, from Lemma 2, since E is uniformly smooth Banach space, J is single valued and uniformly continuous on any bounded subset of E. Observe that

$$(z_n - p) - (x_n - p) = z_n - x_n$$

= $(1 - \gamma_n)x_n + \gamma_n T_3 x_n - x_n$
= $\gamma_n (T_3 x_n - x_n),$

so as $n \to \infty$, we have

$$||(z_n - p) - (x_n - p)|| = ||x_n - T_3 x_n||$$

$$\leq \gamma_n (||x_n - p|| + ||T_3 x_n - p||)$$

$$\leq M\gamma_n + M\gamma_n = 2M\gamma_n \longrightarrow 0.$$

Since we have shown that the sequences $\{x_n - p\}_{n=0}^{\infty}$ and $\{z_n - p\}_{n=0}^{\infty}$ are all bounded sets, it follows that as $n \to \infty$,

$$||j(z_n - p) - j(x_n - p)|| \longrightarrow 0,$$

and hence,

$$A_n = \langle T_3 x_n - p, j(z_n - p) - j(x_n - p) \rangle \longrightarrow 0.$$

Also from Lemma 1 for all $n \ge 0$, and by taking $B_n = \langle T_2 z_n - p, j(y_n - p) - j(z_n - p) \rangle$, we have

$$\begin{aligned} ||y_n - p||^2 &= ||(1 - \beta_n)x_n + \beta_n T_2 z_n - p||^2 \\ &= ||(1 - \beta_n)(x_n - p) + \beta_n (T_2 z_n - p)||^2 \\ &\leq (1 - \beta_n)^2 ||x_n - p||^2 + 2\beta_n \langle T_2 z_n - p, j(y_n - p) \rangle \\ &= (1 - \beta_n)^2 ||x_n - p||^2 \\ &+ 2\beta_n \langle T_2 z_n - p, j(z_n - p) - j(z_n - p) + j(y_n - p) \rangle \\ &= (1 - \beta_n)^2 ||x_n - p||^2 \\ &+ 2\beta_n \langle T_2 z_n - p, j(z_n - p) \rangle + 2\beta_n B_n \\ (12) &\leq (1 - \beta_n)^2 ||x_n - p||^2 + 2\beta_n (1 - k) ||z_n - p||^2 + 2\beta_n B_n. \end{aligned}$$

Substituting (11) in (12), we get

(13)

$$||y_{n} - p||^{2} \leq (1 - \beta_{n})^{2}||x_{n} - p||^{2} + 2\gamma_{n}A_{n}] + 2\beta_{n}B_{n}$$

$$= [(1 - \beta_{n})^{2} + 2\beta_{n}(1 - k)] ||x_{n} - p||^{2} + 4(1 - k)\beta_{n}\gamma_{n}A_{n} + 2\beta_{n}B_{n}$$

$$= [1 + \beta_{n}(\beta_{n} - 2k)]||x_{n} - p||^{2} + 4(1 - k)\beta_{n}\gamma_{n}A_{n} + 2\beta_{n}B_{n}.$$

Now by $\lim_{n\to\infty} \beta_n = 0$, implies there exists a natural number $n_0 \in \mathbb{N}$ such that for all $n \ge n_0$, we have $\beta_n \le 2k$. From (13), we get

(14)
$$||y_n - p||^2 \le ||x_n - p||^2 + 4(1 - k)\beta_n\gamma_nA_n + 2\beta_nB_n.$$

CLAIM 2: $\lim_{n \to \infty} B_n = 0.$

Indeed, from Lemma 2, since E is uniformly smooth Banach space, J is single valued and uniformly continuous on any bounded subset of E.

Observe that

$$(y_n - p) - (z_n - p) = y_n - z_n$$

= $(1 - \beta_n)x_n + \beta_n T_2 z_n - (1 - \gamma_n)x_n - \gamma_n T_3 x_n$
= $\beta_n (T_2 z_n - x_n) + \gamma_n (x_n - T_3 x_n),$

so as $n \to \infty$, we have

$$||(y_{n} - p) - (z_{n} - p)|| = ||\beta_{n}(T_{2}z_{n} - x_{n}) + \gamma_{n}(x_{n} - T_{3}x_{n})||$$

$$\leq \beta_{n} ||T_{2}z_{n} - x_{n}|| + \gamma_{n} ||x_{n} - T_{3}x_{n}||$$

$$\leq \beta_{n} (||T_{2}z_{n} - p|| + ||x_{n} - p||)$$

$$+ \gamma_{n} (||x_{n} - p|| + ||T_{3}x_{n} - p||)$$

$$\leq 2M\beta_{n} + 2M\gamma_{n} = 2M(\beta_{n} + \gamma_{n}) \longrightarrow 0.$$

Since we have shown that the sequences $\{y_n - p\}_{n=0}^{\infty}$ and $\{z_n - p\}_{n=0}^{\infty}$ are all bounded sets, it follows that as $n \to \infty$,

$$||j(y_n - p) - j(z_n - p)|| \longrightarrow 0,$$

and hence,

$$B_n = \langle T_2 z_n - p, j(y_n - p) - j(z_n - p) \rangle \to 0.$$

Thus, from Lemma 1 for all $n \ge 0$, and by taking $C_n = \langle T_1 y_n - p, j(x_{n+1} - p) - j(y_n - p) \rangle$, we obtain

$$\begin{aligned} \|x_{n+1} - p\|^2 &= \||(1 - \alpha_n)x_n + \alpha_n T_1 y_n - p||^2 \\ &= \||(1 - \alpha_n)(x_n - p) + \alpha_n (T_1 y_n - p)||^2 \\ &\leq (1 - \alpha_n)^2 ||x_n - p||^2 + 2\alpha_n \langle T_1 y_n - p, j(x_{n+1} - p) \rangle \\ &= (1 - \alpha_n)^2 ||x_n - p||^2 \\ &+ 2\alpha_n \langle T_1 y_n - p, j(y_n - p) - j(y_n - p) + j(x_{n+1} - p) \rangle \\ &= (1 - \alpha_n)^2 ||x_n - p||^2 + 2\alpha_n \langle T_1 y_n - p, j(y_n - p) \rangle \\ &+ 2\alpha_n C_n \end{aligned}$$
(15)

196

Substituting (14) in (15), we obtain

$$||x_{n+1} - p||^{2} \leq (1 - \alpha_{n})^{2} ||x_{n} - p||^{2} + 2\alpha_{n}(1 - k) [||x_{n} - p||^{2} + 4(1 - k)\beta_{n}\gamma_{n}A_{n} + 2\beta_{n}B_{n}] + 2\alpha_{n}C_{n} = [(1 - \alpha_{n})^{2} + 2\alpha_{n}(1 - k)] ||x_{n} - p||^{2} + 8(1 - k)^{2}\alpha_{n}\beta_{n}\gamma_{n}A_{n} + 4(1 - k)\alpha_{n}\beta_{n}B_{n} + 2\alpha_{n}C_{n} = [1 + \alpha_{n}(\alpha_{n} - 2k)]||x_{n} - p||^{2} + 8(1 - k)^{2}\alpha_{n}\beta_{n}\gamma_{n}A_{n} + 4(1 - k)\alpha_{n}\beta_{n}B_{n} + 2\alpha_{n}C_{n}.$$
(16)

Now by $\lim_{n\to\infty} \alpha_n = 0$, implies there exists a natural number $n_0 \in \mathbb{N}$ such that for all $n \ge n_0$, we have $\alpha_n \le k$. From (16), we get

(17)
$$\begin{aligned} \|x_{n+1} - p\|^2 &\leq (1 - k\alpha_n) \|x_n - p\|^2 + 8(1 - k)^2 \alpha_n \beta_n \gamma_n A_n \\ &+ 4(1 - k)\alpha_n \beta_n B_n + 2\alpha_n C_n \\ &= (1 - k\alpha_n) \|x_n - p\|^2 + \delta_n \alpha_n; \end{aligned}$$

$$\delta_n = 4(1-k)\beta_n [2(1-k)\gamma_n A_n + B_n] + 2C_n.$$

CLAIM 3: $\lim_{n\to\infty} C_n = 0.$

Indeed, from Lemma 2, since E is uniformly smooth Banach space, J is single valued and uniformly continuous on any bounded subset of E. Observe that

$$(x_{n+1} - p) - (y_n - p) = x_{n+1} - y_n$$

= $(1 - \alpha_n)x_n + \alpha_n T_1 y_n - (1 - \beta_n)x_n - \beta_n T_2 z_n$
= $\alpha_n (T_1 y_n - x_n) + \beta_n (x_n - T_2 z_n),$

so as $n \to \infty$, we have

$$\begin{aligned} ||(x_{n+1} - p) - (y_n - p)|| &= ||\alpha_n (T_1 y_n - x_n) + \beta_n (x_n - T_2 z_n)|| \\ &\leq \alpha_n ||T_1 y_n - x_n|| + \beta_n ||x_n - T_2 z_n|| \\ &\leq \alpha_n (||T_1 y_n - p|| + ||x_n - p||) \\ &+ \beta_n (||x_n - p|| + ||T_2 z_n - p||) \\ &\leq 2M \alpha_n + 2M \beta_n = 2M (\alpha_n + \beta_n) \longrightarrow 0. \end{aligned}$$

Since we have shown that the sequences $\{x_{n+1} - p\}_{n=0}^{\infty}$ and $\{y_n - p\}_{n=0}^{\infty}$ are all bounded sets, it follows that as $n \to \infty$,

$$||j(x_{n+1}-p) - j(y_n-p)|| \longrightarrow 0,$$

and hence,

$$C_n = \langle T_1 y_n - p, j(x_{n+1} - p) - j(y_n - p) \rangle \longrightarrow 0.$$

Now applying Lemma 3 on (17), we obtain that

$$\lim_{n \to \infty} ||x_n - p|| = 0,$$

completing the proof.

As a special case of theorem 1, the following corollary can be deduced by taking $T_1 = T_2 = T_3$.

Corollary 1. Let E be a real uniformly smooth Banach space and K be a nonempty closed convex subset of E. Let T be strongly pseudocontractive self map of K with T(K) bounded. Let $\{x_n\}_{n=0}^{\infty}$ be the sequence defined by

(18)

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n Ty_n,$$

$$y_n = (1 - \beta_n)x_n + \beta_n Tz_n,$$

$$z_n = (1 - \gamma_n)x_n + \gamma_n Tx_n, \ n \ge 0$$

where $\{\alpha_n\}_{n=0}^{\infty}$, $\{\beta_n\}_{n=0}^{\infty}$ and $\{\gamma_n\}_{n=0}^{\infty}$ are three real sequences in [0, 1] satisfying the conditions:

(19)
$$\lim_{n \to \infty} \alpha_n = 0 = \lim_{n \to \infty} \beta_n = \lim_{n \to \infty} \gamma_n \text{ and } \sum_{n=0}^{\infty} \alpha_n = \infty.$$

On modified Noor iterations ...

Then the sequence $\{x_n\}_{n=0}^{\infty}$ converges strongly to the unique fixed point p of T.

Remark 1. Corollary 1 is the theorem 2.1 of [15] due to Noor, Rassias and Huang.

References

- W. F. Ames, Numerical Methods for Partial Differential Equations, 3rd edition, Academic Press, New York, (1992).
- [2] F. E. Browder, Nonlinear mappings of nonexpansive and accretive type in Banach spaces, Bull. Amer. Math. Soc. 73 (1967), 875-882.
- [3] R. Glowinski and P. Le Tallec, Augemented Lagrangian and Operator-Splitting Methods in Nonlinear Mechanics, SIAM Publishing Co., Philadelphia, (1989).
- [4] S. Haubruge, V. H. Nguyen and J. J. Strodiot, Convergence analysis and applications of the Glowinski-Le Tallec splitting method for finding a zero of the sum of two maximal monotone operators, J. Optim. Theory Appl. 97(3)(1998), 645-673.
- [5] Z. Huang, Approximating fixed points of φ-hemicontractive mappings by the Ishikawa iteration process with errors in uniformly smooth Banach spaces, Computers Math. Applic. 36(2) (1998), 13-21.
- [6] Z. Huang, Iterative process with errors for fixed points of multivalued φ-hemicontractive operators in uniformly smooth Banach spaces, Computers Math. Applic. 39(3) (2000), 137-145.
- S. Ishikawa, Fixed points by a new iteration method, Proc. Amer. Math. Soc 44 (1974), 147-150.

- [8] G. G. Johnson, Fixed points by mean value iteration, Proc. Amer. Math. Soc. 34 (1972), 193-194.
- [9] T. Kato, Nonlinear semigroup and evolution equations, J. Math. Soc. Japan 19 (1967), 508-520.
- [10] L. S. Liu, Ishikawa and Mann iteration process with errors for nonlinear strongly accretive mappings in Banach spaces, J. Math. Anal. Appl. 194 (1) (1995), 114-125.
- [11] W. R. Mann, Mean value methods in iteration, Proc. Amer. Math. Soc. 4 (1953), 506-510.
- [12] M. A. Noor, New approximation schemes for general variational inequalities, J. Math. Anal. Appl. 251 (2000), 217-229.
- [13] M. A. Noor, Three-step iterative algorithms for multivalued quasi variational inclusions, J. Math. Anal. Appl. 255 (2001), 589-604.
- [14] M. A. Noor, Some predictor-corrector algorithms for multivalued variational inequalities, J. Optim. Theory Appl. 108 (3) (2001), 659-670.
- [15] M. A. Noor, T. M. Rassias and Z. Huang, Three-step iterations for nonlinear accretive operator equations, J. Math. Anal. Appl. 274 (2002), 59-68.
- [16] A. Rafiq, Iterative solution of nonlinear equations involving generalized ϕ -hemicontractive mappings, Indian J. Math. 50 (2) (2008), 365-380.
- [17] X. Weng, Fixed point iteration for local strictly pseudocontractive mapping, Proc. Amer. Math. Soc. 113 (3) (1991), 727–731.
- [18] R. Wangkeeree, Noor Iterations with errors for non-lipschitzian mappings in Banach spaces, Kyungpook Mathematical Journal, to appear.

On modified Noor iterations ...

- [19] H. K. Xu, Inequalities in Banach spaces with applications, Nonlinear Anal. TMA 16 (12) (1991), 1127-1138.
- [20] Y. Xu, Ishikawa and Mann iterative processes with errors for nonlinear strongly accretive operator equations, J. Math. Anal. Appl. 224 (1998), 91-101.

Arif Rafiq COMSATS Institute of Information Technology, Islamabad, Pakistan E-mail: arafiq@comsats.edu.pk

Amelia Bucur Department of Mathematics, "Lucian Blaga" University of Sibiu, Str. I. Ratiu, no. 5-7, 550012 - Sibiu, Romania E-mail: amelia.bucur@ulbsibiu.ro